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Pr= 98 Watts P23=
Er= 28 Volts Eyz=
I23=
Rr=8 Ohms R23= 4.83 Ohms
_ RaxRs _18x6.6 ~1188 R, .=4.83 Ohms
R = R+ Rs P81 66 T4
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Ei1=
[1= 3.5 Amps
Ri=

Pr= 98 Watts P23=
Er= 28 Volts Eyz=
3=
Rr=8 Ohms R23= 4.83 Ohms

Rz2xRs R eaai] R23= 1188 p,:=4.830hms || R;= Rr- R23=8-4.83 = 3.17 Ohms
Ros= R+ R **~18+ 6.6 2=7246
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Pr=98 Watts P23=
Er= 28 Volts E2‘3 —
- 3=
Rr=8 Ohms R23= 4.83 Ohms

R2xR3 18x6.6 118.8
R2;3 R R 23= 18+ 66 Rz;3 246 2,3 Ri=Rr- R23=8-4.83 =3.17 Ohms
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P1=

E1=

[1= 3.5 Amps
R1=3.17 Ohms

Pt= 98 Watts P,= P3=
Er= 28 Volts E,= Ez=
L= Iz=
Rr= 8 Ohms R, = 18 Ohms R3= 6.6 Ohms
_ sz R3 — 18x6.6 _ 118.8 R, 2 =4.83 Ohms _ ) _ _
Rz3= R, + R 23= 181 6.6 Rz3= 246 2,3=14. Ri=Rr-R23=8-4.83 =3.17 Ohms
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P1= 38.85 Watts
E1=11.10 Volts
[1= 3.5 Amps

Ri1=3.17 Ohms

Pr= 98 Watts

Er= 28 Volts
It= 3.5 Amps
Rr= 8 Ohms

Rule

P, =15.89 Watts

E;= 16.9 Volts
[>=.94 Amps
R2= 18 Ohms

P3=43.26 Watts
E; = 16.9 Volts

[3=2.56 Amps
R3= 6.6 Ohms




